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Class: XII Science                                  Duration: 1 Hour 

Date:  01/08/24     MARKING SCHEME  Max. Marks: 25 

Q No. Answer Scheme 

1 A Continuous everywhere but not differentiable at x=0 

2 C -1  
3 B ex  

4 D a>1 

5 C  

6 LHL= RHL 
Limit exists at x=1,  therefore there is no point of discontinuity 

7 
x.

𝑑𝑦

𝑑𝑥
+y.1 = 0 

𝑑𝑦

𝑑𝑥
=  −𝑦/𝑥 = 

−𝑦

1/𝑦
 = -y2  

𝑑𝑦

𝑑𝑥
+ 𝑦2 = 0  

 

8 logY= sin-1x log x 
𝑑𝑦

𝑑𝑥
= 𝑦 [

𝑠𝑖𝑛-1𝑥

𝑥
+

𝑙𝑜𝑔𝑥

√1 − 𝑥2
] 

𝑑𝑦

𝑑𝑥
= 𝑥𝑠𝑖𝑛-1𝑥 [

𝑠𝑖𝑛-1𝑥

𝑥
+

𝑙𝑜𝑔𝑥

√1 − 𝑥2
] 

 

9 Let r be the radius and C be the circumference of the circle at any time t.  
C= 2𝜋𝑟 
𝑑𝐶

𝑑𝑡
= 2𝜋𝑥0.5 = 𝜋cm/sec. 

 

10 Given that f(x) is continuous at x=3 
lim
𝑥→3

𝑓(𝑥) = 𝑓(3) 

lim
𝑥→3

𝑓(𝑥) = 𝑘 

3+3+6=k= 12. 

11 tan-1(
2+3𝑡𝑎𝑛𝑥

3−2𝑡𝑎𝑛𝑥
) 

Divide numerator and denominator by 3 

tan-12

3
 +tan-1(tanx) 

tan-12

3
 +x 

𝑑𝑦

𝑑𝑥
= 0 + 1= 1 
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Given y= sin-1x  
𝑑𝑦

𝑑𝑥
=  

1

√1 − 𝑥2
 

(1 − 𝑥2)
𝑑2𝑦

𝑑𝑥2
= 

𝑥

√1−𝑥2
 

(1 − 𝑥2)
𝑑2𝑦

𝑑𝑥2
− 𝑥

𝑑𝑦

𝑑𝑥
= 0  

 

13 f’(x) = 3x2 -36x +96 
0= f’(x)  
X= 4,8 
Therefore, 0,4,8,9 are the points 
f(0) = 0 
f(4) = 160 
f(8) = 128 
f(9) = 135 
Minimum value is 0 at x=0 

 

 

 

 

 

 

 

 

 


